Description:  0.283" Right Angle / Machined Dimensions (inch/mm)
Pins A B C D E F
9 1.213 0.984 0.665 0.327 0.240 0.492
30.80 25.00 16.90 8.30 6.10 12.50
15 1.543 1.311 0.994 0.327 0.240 0.492
+0A008 39.20 33.30 25.25 8.30 6.10 12.50
- B 25 2.089 1.852 1.533 0.327 0.240 0.492
+0.008 53.05 47.05 38.95 8.30 6.10 12.50
o 30120 37 2732 2.500 2.181 0.327 0.240 0.492
. o P 2.PLS —=i=— 0031(0.80) 69.40 | 63.50 | 5540 | 8.30 6.10 | 1250
! ‘ ‘ / H +0.008 5o | 2638 | 2402 | 2079 | 0429 | 0236 | 0602
67.00 61.00 52.80 10.90 6.00 15.30
F 00000000 O0O0OO 6 D
+0.008 O O 000000 O0O0O0O0O0 +0.008
i TTVUTUUUUTUUTUTu0ny f — |
Pin 1 « @ 0.026 (0.65) 0.118 (3.00)
TYP.
E Bl el
r +0.008 ¢ Series ‘
Position
H opoooud H 0.433 (11.00) E09
f [ ] +0.012 E15
: ‘ E25
Q[T [BT] BT [o 6] [ Te 6] o] 6 E37
Tl f 50
Gender
1= Male
Termination
1 = PCB Mounting
Shell Plating
3 = Nickel
M aterial: RoHS Compllapt
. Hardware Options
Shell: Nickel Plated Steel 00 = No Hardware
Insulator: UL 94V-O Rated, White PAGT 0A = 0.098" Clinch Nut (Board Side)
Process TempCeratureE 260 C . hined 1 14 = Standard Bracket with 4-40 Screwlock
ontact:  Precision Machined Copper Alloy 24 = Standard Bracket with 4-40 Captive Screw
: . 46 = Boardlock Bracket with 4-40 Insert
EleCtrlcal' Plating Options
Current Rating: 5 AMPS 1 = Gold Flash
Contact Resistance: 10 mOhms Max. 2=30u" Gold
Insulation Resistance: 5 GOhms Min. 3 =50u" Gold
Working Voltage: 250V
Temperature: -55°C TO +125°C
ReFIS COMIPLIANTT UNITS = inch [mm] DO NOT SCALE FROM BRAWING
THESE DRAWINGS AND SPECIFICATIONS ARE DRAWN: SCALE: SHEET OF REV
THE PROPERTY OF NorComp AND SHALL NOT PAM JENKINS NTS 1 3 23
BE REPRODUCED, COPIED OR USED AS THE N O r'< O m p
BASIS FOR THE MANUFACTURE OR SALE OF DATE: DWG NO.
APPARATUS WITHOUT WRITTEN PERMISSION. 11/28/2005 1 73-EYY-1 1 YRYY1




Description: PCB Layout

9 POSITION 15 POSITION 25 POSITION
0.984 1.312 1.852
0} (0] 0]
0.492 ~— 0.656 — @ 0.126 * 0.926
’ 0.378 — Minimum 0.652 —f=—n|
0216 —| |- 0.270 —| see page (3) 0.544 —f=——~
0.108 — 0.112 (9, 15, 25, 37 POSITON) 0.162 — J for Bracket 0.435 —=——
; | ( 0054 —| Hole Location 0.326 —=—=
OO 000 T OO0 O0O0O00O0 0.218 —
! q OO0 O * O OOO(O’)” 0.109 ——I ‘J»
0.339 0.283 0162 — ||=— 0.108 — OO 00006000000
- e 0.216 — ®0043* O OO0 0000000000 O
* % 0.054 ——= == K 0.324 —<—— | |~— 0.055
PCB Edge T -~ 0.163
Typical for - 0272
9,15,25,37 Position ——— 0.381
- 0.489
—— 0.598
37 POSITION 50 POSITION
2.500
¢ 2.406
1.250 ¢ 1203 UNITS = inch
0.978 :
0.870 0.870
0761 —| 0761 — =" * Typical Suggested Size
0652 —f=— 0652 — =" May Not Be Suitable For All Applications
o544 0.544 —f=—n|
0.435 —| 0.435 —
0.326 —f— 0326 — 0.224
0218 — PL 0218 —| ‘J
0109 — 0.109 —=
5BDOEEDDEEDSEDDEDDDES ‘oooooooo<oovooooo $
ORAARARARARRAARARNAAIING! ) 0000000000000 00D C, ;
IEDRARRARIRIR AR RN ;
=— 0.055
T‘ 0.112 J —— 0.055 0.283 0.395
l=— 0.163 - 0463
- 0.272 0272 - - f %
0.381 1 o381
-~ 0.489 | o8
0.598 - o508 PCB Edge
- 0.707 0.707
0.815 0.815
0.924

ReRS COMPLIANIT DO NOT SCALE FROM DRAWING

THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: SCALE: SHEET OF REV
THE PROPERTY OF NorComp AND SHALL NOT PAM JENKINS NTS 2 3 23
BE REPRODUCED, COPIED OR USED AS THE N O r' O m p

BASIS FOR THE MANUFACTURE OR SALE OF DATE: DWG NO.

APPARATUS WITHOUT WRITTEN PERMISSION. 11/28/2005 1 73- EYY-1 1 YRYY1




Description: Hardware Options

OA Hardware Option 14 Hardware Option 24 Hardware Option
0.098" Clinch Nut (Board Side) o
Description NorComp Part Number Description NorComp Part Number
0.142 [3.60] 1 4-40 Screwlock SFSO4401NR 1 4-40 Captive Screw SSH4401T
2 Bracket K501CZ 2 Bracket K501CZ
3 Lock Washer LWI1-T 3 Lock Washer LWI-T
i 4 4-40 Nut N4401N 4 4-40 Nut N4401N

N

N ﬂl %
Cum [ [§ s [ﬁf

Clinch Nut has 4-40 Internal Threads

**Search Hardware Part Number To Obtain Technical Specifications. **Search Hardware Part Number To Obtain Technical Specifications.

46 Hardware Option
Boardlock Bracket and 4-40 Insert

#4-40 Threaded Insert 9-37 Position Connector Boardlock Bracket 50 Position Connector Boardlock Bracket
** 50 Position Comes With Locator Plate

z E
T
Hole C/L JH Hole C/L <_—‘

0.339 [8.62] 0.395 [10.03]

Boardlock Brackets Come Assembled On Connector

[RoRS COMIPLIANTT UNITS=inch[mm] (DO NOT SCALE FROM DRAWING

THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: SCALE: SHEET OF REV

| Ot v NorComp we™ = ° = 1=
APPARATUS WITHOUT WRITTEN PERMISSION. 11/28/2005 1 73-EYY-1 1 YRYY1




X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for D-Sub Standard Connectors category:
Click to view products by NorComp manufacturer:

Other Similar products are found below :

S56F706-005-L1 56F711-015 LV242999-142T12 015-0341-000 015-0349-000 015-0350-000 015-8544-011 015-8755-001 017041-0005
020419-0104 012-0467-000 012-9507-114 020745-0008 609-25P 609-9P M24308/2-23Z M24308/2-36Z CT0-24-10SC CTOE20-8PS
CTOE22-14SC CTOF16S-1SC CTOFA22-1SS CTOP14S-5S5XS CTOP22-14PS CTOTA16-11SXCA232 CTOU22-14PSA206F127 CT1E20-
19SS CT1E20-22SCAU-G9 CT1F22-14PC-G9 CT1FC22-2PC CT1FC24-28SSAU CT1IN22-22SS CT2-10SL-3SC CT2-14S-2PCA34 CT2-
18-10PS-FMLB-D CT2-18-11PCAU CT2-18-1PSAUA34 CT2-22-19SC CT2-22-19SS-A206 CT2-24-2PS CT2-28-12SC CT2-28-
12SCA232 CT2-28-12SSA232 CT6-10SL-3SC CT6-10SL-4SC CT6-16-12SC CT6-18-10PSA206 CT6-18-10PSA232 CT6-18-
10SSF127A206 CT6-28-22SS



https://www.x-on.com.au/category/connectors/d-sub-connectors/d-sub-standard-connectors
https://www.x-on.com.au/manufacturer/norcomp
https://www.x-on.com.au/mpn/apitechnologies/56f706005li
https://www.x-on.com.au/mpn/apitechnologies/56f711015
https://www.x-on.com.au/mpn/itt/lv242999142t12
https://www.x-on.com.au/mpn/itt/0150341000
https://www.x-on.com.au/mpn/itt/0150349000
https://www.x-on.com.au/mpn/itt/0150350000
https://www.x-on.com.au/mpn/itt/0158544011
https://www.x-on.com.au/mpn/itt/0158755001
https://www.x-on.com.au/mpn/itt/0170410005
https://www.x-on.com.au/mpn/itt/0204190104
https://www.x-on.com.au/mpn/itt/0120467000
https://www.x-on.com.au/mpn/itt/0129507114
https://www.x-on.com.au/mpn/itt/0207450008
https://www.x-on.com.au/mpn/teconnectivity/60925p
https://www.x-on.com.au/mpn/teconnectivity/6099p
https://www.x-on.com.au/mpn/itt/m24308223z
https://www.x-on.com.au/mpn/itt/m24308236z
https://www.x-on.com.au/mpn/itt/ct02410sc
https://www.x-on.com.au/mpn/itt/ct0e208ps
https://www.x-on.com.au/mpn/itt/ct0e2214sc
https://www.x-on.com.au/mpn/itt/ct0f16s1sc
https://www.x-on.com.au/mpn/itt/ct0fa221ss
https://www.x-on.com.au/mpn/itt/ct0p14s5sxs
https://www.x-on.com.au/mpn/itt/ct0p2214ps
https://www.x-on.com.au/mpn/itt/ct0ta1611sxca232
https://www.x-on.com.au/mpn/itt/ct0u2214psa206f127
https://www.x-on.com.au/mpn/itt/ct1e2019ss
https://www.x-on.com.au/mpn/itt/ct1e2019ss
https://www.x-on.com.au/mpn/itt/ct1e2022scaug9
https://www.x-on.com.au/mpn/itt/ct1f2214pcg9
https://www.x-on.com.au/mpn/itt/ct1fc222pc
https://www.x-on.com.au/mpn/itt/ct1fc2428ssau
https://www.x-on.com.au/mpn/itt/ct1n2222ss
https://www.x-on.com.au/mpn/itt/ct210sl3sc
https://www.x-on.com.au/mpn/itt/ct214s2pca34
https://www.x-on.com.au/mpn/itt/ct21810psfmlbd
https://www.x-on.com.au/mpn/itt/ct21810psfmlbd
https://www.x-on.com.au/mpn/itt/ct21811pcau
https://www.x-on.com.au/mpn/itt/ct2181psaua34
https://www.x-on.com.au/mpn/itt/ct22219sc
https://www.x-on.com.au/mpn/itt/ct22219ssa206
https://www.x-on.com.au/mpn/itt/ct2242ps
https://www.x-on.com.au/mpn/itt/ct22812sc
https://www.x-on.com.au/mpn/itt/ct22812sca232
https://www.x-on.com.au/mpn/itt/ct22812sca232
https://www.x-on.com.au/mpn/itt/ct22812ssa232
https://www.x-on.com.au/mpn/itt/ct610sl3sc
https://www.x-on.com.au/mpn/itt/ct610sl4sc
https://www.x-on.com.au/mpn/itt/ct61612sc
https://www.x-on.com.au/mpn/itt/ct61810psa206
https://www.x-on.com.au/mpn/itt/ct61810psa232
https://www.x-on.com.au/mpn/itt/ct61810ssf127a206
https://www.x-on.com.au/mpn/itt/ct61810ssf127a206
https://www.x-on.com.au/mpn/itt/ct62822ss

